




Scope of Work & Supplies 

1. All fabrication must be done and as per the enclosed drawings (listed as under): 

Part No. Part Name Material Quantity/ Set 

1 End Disk ETP Copper 2 Nos. 

2 Intermediate Disks ETP Copper 8 Nos. 

3 Sectors ETP Copper 8 Nos. 

4 Inter Disk Insulation FRP G10 9 Nos. + *9 Nos. 

5 Insulation End Disk FRP G10 2 Nos. 

6 Bolt OD Liner Teflon 24 Nos. 

7 Bolt End Collar Teflon 24 Nos. + *12 Nos. 

8 M12×165 Allen Bolt SS 304 12 Nos. 

9 M12 Hex Nut SS 304 24 Nos. 

10 M10×60 Bolt, Nut with 

Washer 

SS 304 8 Sets 

11 Support Stand with top 

plate 

Powder coated MS 1 No. 

* Spare quantity to be provided per set.  

Quantity to be supplied: 2 Sets 

Note: Fabricators shall quote price of each Set (i.e. coil assembly with support stand and 

mentioned spares). Quotations with separate pricing of parts will be not be accepted. 

2. All sharp corners and edges should be rounded to R3/R2 and flat surfaces should be 

smooth finish.  

3. All necessary nuts, bolts along with washers required for making the assembly is within 

the scope of supply of fabricator. 

4. Support structure should be lockable, movable easily. 

5. Installation of coil assembly and its integration with our capacitor bank shall be done by 

fabricator at PEB-2, BARCF (V) at the time of supply.  

General requirements: 

1. Work carried out for fabrication will be inspected by BARC representative. 

2. Along with the quotation, the vender should mention the details of taxes and also he 

should be able to provide PAN No. /TIN No. /GST No. etc if any. 

3. The fabricators are encouraged to hold prior discussion with the indenter for any 

clarifications or suggestions. 

4. Delivery to be made at PEB-2, BARCF, Atchutapuram site.  

Payment Terms: 

Payment will be made only after the satisfactory completion of work as per acceptance 

criteria’s mentioned above and on production of bill and advance stamped receipt.     



8 SETS

24 Nos.

12 Nos.

8 Nos.

ETP COPPER

INTERMEDIATE DISKS

24 Nos.

12 Nos.

9 Nos.

2 Nos.

8 Nos.

2 Nos.

QTY.

SS304

TEFLON

TEFLON

SS304

SS304

FRP G10

ETP COPPER

MATERIAL

M10 x 60 BOLT, NUT

BOLT END COLLAR

BOLT OD LINER

M12 HEX NUT

M12 x165 ALLEN BOLT

INTER DISK INSULATION

INSULATION END DISK

SECTORS

END DISK

DESCRIPTION

10

9

8

7

6

5

4

3

2

1

PART No.

260

4
2

5

185

165
Ø

3
5

0

NOTE:
1. All dimensions are in mm.
2. All sharp corners should be rounded to R3/ R2.
3. All surfaces should be buffed.
4. PART - 3 not shown in Assembly.

ETP COPPER

FRP G10

WITH WASHER

BILL OF MATERIAL

ASSEMBLY DRAWING OF BITTER COIL

1
2 4

6
7

8

9

5

135



4
0

0

Ø300

Ø150

12 nos., Ø18 CLEAR HOLES
EQ-SP ON PCD  - 225 mm.

5 mm
THK.

12°

45°

260 50

5

R3

MATERIAL - ETP GRADE COPPER
QTY.  - 2

1
7

5
.2

12.5

R6 130

300

260

4
5

5

FRONT VIEW SIDE VIEW

TOP  VIEW

PART - 1



Ø350

Ø100

1
5

° 12°

Ø300Ø150

5 mm THK.

12 nos., Ø18 CLEAR HOLES
EQ-SP ON PCD  - 225 mm.

FRONT VIEW SIDE VIEW

MATERIAL - ETP GRADE COPPER
QTY.  - 8

12 nos., Ø18 CLEAR HOLES
EQ-SP ON PCD  - 225 mm.

5

2
0

°

MATERIAL - FRP G 10
QTY.  -  9

PART - 2

PART - 4



18
°

R75

R150

R112.5

Ø
18

5

MATERIAL - ETP GRADE COPPER
QTY.  - 8

115

MATERIAL - TEFLON
QTY.  -  24

PART - 3



Ø350

Ø100

12 nos., Ø18 CLEAR HOLES
EQ-SP ON PCD  - 225 mm.

15

MATERIAL - FRP G 10
QTY.  -  2

PART - 5



18
°

R75

R150

R112.5

MATERIAL - ETP GRADE COPPER
QTY.  - 8

Ø
3

5
Ø

5
0

22
35Ø

1
2

.5

115

Ø
1

2
.5

Ø
1

7
.5

MATERIAL - TEFLON
QTY.  -  24

MATERIAL - TEFLON
QTY.  -  24

PART - 3 PART - 6 PART - 7



8
0

0
1

1
0

800

1
2 5

6
7

8

9

4

4
2

5

135

BITTER COIL ASSEMBLY

SUPPORT STRUCTURE ASSEMBLY



SUPPORT STRUCTURE OF COIL ASSEMBLY

8
0

0
1

1
0

8

SQ. PIPE ( 50 X 50 X 5 )

1
0

800

MS PLATE ( 850 X 850 X 8 )

FRP SHEET ( 850 X 850 X 15 )

850

8
5

0

400

4
0

0

FRONT VIEW

TOP  VIEW

Ø16

135

1
3

0


